
SAP ABAP table S120 {Sales as per receipts}

S120

MANDT [CLNT (3)]

SPTAG [DATS (8)]

WERKS [CHAR (4)]

KSKRS [NUMC (5)]

KASNR [NUMC (10)]

BONNR [NUMC (15)]

MATNR [CHAR (18)]

EANNR [CHAR (18)]

KSCHL [CHAR (4)]

KVORG [CHAR (4)]

CONDNR [NUMC (6)]

VRSIO [CHAR (3)]

SPMON [NUMC (6)]

SPWOC [NUMC (6)]

SPBUP [NUMC (6)]

SSOUR [CHAR (4)]

VRKME [UNIT (3)]

BASME [UNIT (3)]

WAERK [CUKY (5)]

AKTNR [CHAR (10)]

MATKL [CHAR (9)]

ZMTTL [CHAR (4)]

KUNNR [CHAR (10)]

CCINS [CHAR (4)]

CCNUM [CHAR (25)]

BZIRK [CHAR (6)]

VKGRP [CHAR (3)]

VKORG [CHAR (4)]

VTWEG [CHAR (2)]

BBYNR [CHAR (12)]

KNA1

MANDT [CLNT (3)]

KUNNR [CHAR (10)]

 S120-KUNNR = KNA1-KUNNR 
0..N

0..N

KONBBYH

MANDT [CLNT (3)]

BBYNR [CHAR (12)]

 S120-BBYNR = KONBBYH-BBYNR 
0..N

0..N

MARA

MANDT [CLNT (3)]

MATNR [CHAR (18)]

 S120-MATNR = MARA-MATNR 
0..N

0..N

T000

MANDT [CLNT (3)]

 S120-MANDT = T000-MANDT 
0..N

0..N

T001W

MANDT [CLNT (3)]

WERKS [CHAR (4)]

 S120-WERKS = T001W-WERKS 
0..N

0..N

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 S120-BASME = T006-MSEHI 

0..N

0..N

 S120-VRKME = T006-MSEHI 0..N

0..N

T023

MANDT [CLNT (3)]

MATKL [CHAR (9)]
 S120-MATKL = T023-MATKL 0..N

0..N

T171

MANDT [CLNT (3)]

BZIRK [CHAR (6)]
 S120-BZIRK = T171-BZIRK 0..N

1 T685

MANDT [CLNT (3)]

KVEWE [CHAR (1)]

KAPPL [CHAR (2)]

KSCHL [CHAR (4)]

 S120-KSCHL = T685-KSCHL 

1

{0,1}

 S120-ZMTTL = T685-KSCHL 

0..N
0..N

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 S120-WAERK = TCURC-WAERS 

0..N

0..N

TVCIN

MANDT [CLNT (3)]

CCINS [CHAR (4)]

 S120-CCINS = TVCIN-CCINS 

0..N

0..N

TVKGR

MANDT [CLNT (3)]

VKGRP [CHAR (3)]

 S120-VKGRP = TVKGR-VKGRP 

1

{0,1}

TVKO

MANDT [CLNT (3)]

VKORG [CHAR (4)]

 S120-VKORG = TVKO-VKORG 

0..N

0..N

TVTW

MANDT [CLNT (3)]

VTWEG [CHAR (2)]

 S120-VTWEG = TVTW-VTWEG 

0..N

0..N

TWPPB

MANDT [CLNT (3)]

UVORG [CHAR (4)]

 S120-KVORG = TWPPB-UVORG 

0..N

0..N

VCNUM

MANDT [CLNT (3)]

CCINS [CHAR (4)]

CCNUM [CHAR (25)]

 S120-CCNUM = VCNUM-CCNUM 

0..N

0..N

WAKH

MANDT [CLNT (3)]

AKTNR [CHAR (10)]

 S120-AKTNR = WAKH-AKTNR 

0..N

0..N


